[image: image1.jpg]No. of Printed Pages 1 Rall No.

C-4
B.Tech. EXAMINATION, Dee. 2013
[TMTrd Semester B-Scheme (Main Only)]

SE
DISCRETE STRUCTURE,
CSE-203-B
Time -3 llours Maxinum Marks : 75

Before answering the Question Paper candidates should
ensure that they have heen supplied the correct und
complete Question Paper. No complaints in this regard,
will be entertained aller the examination,

Note: Atwempt five quesions by taking at least one
question from cach unic

UNIT

1. Consider the relation R defincd on sct of integers
by xRy iff (x - ¥) is divisible by 3. Prove that it is
an equivalence relation. Also, find all the

equivalence classes which are disjoint
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[image: image2.jpg]2. Let A= {1, 2,3, 4, 12). Consider the relation of
divisibility on A i.e. 2 <b illa divides b. Show that
(A, 95 a partially ordered set. Also prove that in a
lattice L, (aab) s the glb of a and b whereas (avb)
s the lub of'a and b

UNIT2

3. Prove that the following statcments are equivaleat
fora simple connected graph
@ G is Lulerian
(i) Every vertex of G has cven degree
(i) The set of cdges of G can be partitioned into

eycles.

4. Define spanning tree. Write Kurukshal algorithm

for determining the minimal spanning trec and

hence find the minimal spanning trce of the graph

iven below
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5. Prove that 2 non-empty subsct H of a group G is 2

subgroup of G iffa, b & 11 =ab ' e 11

6. Check the validity of the following arguments

4

@

(i)

If computer was down Saturday afiemoon,

then Mary went lo a matince.

either Mary went 1o @ matine or took a nzp

Saturday noon.
Mary did not ake a nap that afiernoon

~The computer was down Saturday aftemoon

If Jack misses many classes through ilness,
then he fails high school

If Jack fails high school, then he is
uneducated.

If Jack reads a lot of books, then he is not
uneducated Jack misses many classes through

illness and reads a lot of books
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7. Using gencrating function solve the recurmence
relation

8,-98, +20a, =0, 8y =33, =-10

8. Solve the recurrence relation
a,~7a, +10a,, =680
where a,=1,a,=2
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